
 

Mppsc Pre. Unit 4 Georaphy of world and 

India Explation 

1.  ANSWER - B [Karnataka] 

Sharavati is the name of the river that flows 

entirely in Karnataka. India’s famous Jog falls is 

created by this river. 

Other name of Jog falls- Gerosoppa falls. 

2.  ANSWER - B [In the Rann of Katch] 

Luni is a river in Rajasthan which originates in the 

Pushkar Valley of Aravalli range near Ajmer and 

ends in marshy lands of Rann of Kutch in Gujarat. 

3.  ANSWER - B [2.5:1] 

Total Coast – 7,517 kilometres, 

Peninsular India – 5,423 kilometres, 

Andaman, Nicobar, and Lakshadweep Islands- 

2,094 kilometres. 

5423÷2094 – 2.59 

4.  ANSWER - B [Mahanadi] 

Hirakud dam is built across the Mahanadi river, 

the dam is one of the World’s longest earthen 

dam. It is located in the state of Odisha. 

5.  ANSWER - A [Assam] 

6.  ANSWER - B [India Bangladesh] 

7.  ANSWER - B [Blue Mountain] 

Phawngpui or Blue Mountain, is the highest 

mountain peak in the Mizo Hills (Lushai Hills) in 

Mizoram. 

8.  ANSWER - D [Hindu Kush] 

9.  ANSWER - A [Delhi] 

Delhi has the respective latitude and longitude of 

28.38° N and 77.12° E. 

10.  ANSWER - D [1, 2, 3 & 4] 

Brick-nogged wood frame- Himachal Pradesh. 

Dhajji- Jammu & Kashmir. Bhongas- Gujarat. 

Ekra- Assam 

11.  ANSWER - B [3 only] 

In India, the Himalayas are spread over more than 

five States. The Western Ghats are spread over six 

States i.e, Gujarat (southern part), Maharashtra, 

Goa, Karnataka, Kerala and Tamilnadu. 

12.  ANSWER - D [1, 2 & 3] 

Coromandel and Malabar coast formed due to 

emergence. Konkan coast formed due to 

submergence. 

13.  ANSWER - A [Nepal Himalayas] 

The Mt. Everest is situated in Nepal Himalayas. It 

is the highest mountain (8,848 meters) above sea 

level. 

14.  ANSWER - D [1, 2, 3 & 4] 

Zoji La is situated in Jammu and Kashmir, 

Lipulekh is situated in Uttarakhand, Shipki La is 

situated in Himachal Pradesh, Nathu La is situated 

in Sikkim. 

1- mÙkj&ch ¼dukZVd½ 
'kjorh ml unh dk uke gS tks iwjh rjg ls 

dukZVd esa cgrh gSA Hkkjr dk çfl) tksx 

tyçikr blh unh }kjk fuÆer gSA 

 

2- mÙkj & ch ¼dPN ds j.k esa½ 
ywuh jktLFkku dh ,d unh gS tks vtesj ds ikl 

vjkoyh jsat dh iq"dj ?kkVh ls fudyrh gS vkSj 

xqtjkr esa dPN ds j.k dh nynyh Hkwfe esa lekIr 

gksrh gSA 

3- mÙkj & ch ¼2-5%1½ 
dqy rV & 7]517 fdyksehVj] 

çk;}hih; Hkkjr  5]423 fdyksehVj] 

vaMeku] fudksckj vkSj y{k}hi }hi lewg& 2]094 

fdyksehVjA 

5423»2094 & 2-59 

4- mÙkj & ch ¼egkunh½ ghjkdqaM ckaèk egkunh 

unh ij cuk gS] ;g ckaèk nqfu;k ds lcls yacs 

feêh ds ckaèkksa esa ls ,d gSA ;g vksfM'kk jkT; esa 

fLFkr gSA 

5- mÙkj & , ¼vle½ 
6- mÙkj & ch ¼Hkkjr ckaXykns'k½ 
7- mÙkj & ch ¼uhyk ioZr½ 
QkSaxiqÃ ;k Cyw ekmaVsu] fetks fgYl ¼yq'kkÃ fgYl½ 

vkSj fetksje esa lcls Åaph ioZr pksVh gSA 

8- mÙkj & Mh ¼fganw dq'k½ 
9- mÙkj & , ¼fnYyh½ 
fnYyh esa lacafèkr v{kka'k vkSj ns'kkarj 28-38° mÙkj 
vkSj 77-12° iwoZ gSA 
10- mÙkj & Mh ¼1] 2] 3 vkSj 4½fczd&uksXM 

oqM Ýse& fgekpy çns'kA èkTth& tEew vkSj 

d'ehjA Hkksaxl&xqtjkrA ,djk& vle 

11- mÙkj&ch ¼dsoy 3½ 
Hkkjr esa] fgeky; ik¡p ls vfèkd jkT;ksa esa QSyk 

gqvk gSA if'peh ?kkV Ng jkT;ksa ;kuh xqtjkr 

¼nf{k.kh Hkkx½] egkjk"Vª] xksok] dukZVd] dsjy vkSj 

rfeyukMq esa QSys gq, gSaA 

12- mÙkj & Mh ¼1] 2 vkSj 3½ mn~Hko ds dkj.k 

dksjkseaMy vkSj ekykckj rV dk fuekZ.k gqvkA 

tyeXu gksus ds dkj.k dksad.k rV dk fuekZ.k 

gqvkA 

13- mÙkj & , ¼usiky fgeky;½ 
ekmaV ,ojsLV usiky fgeky; esa fLFkr gSA ;g 

leqæ ry ls lcls Å¡pk ioZr ¼8]848 ehVj½ gSA 

14- mÙkj & Mh ¼1] 2] 3 vkSj 4½ 



 

t+ksth yk tEew vkSj d'ehj esa fLFkr gS] fyiqys[k 

mÙkjk[kaM esa fLFkr gS] f'kidh yk fgekpy çns'k esa 

fLFkr gS] ukFkw yk flfôe esa fLFkr gSA 



 

15.  ANSWER - B [Jammu & Srinagar] 

Banihal pass is located in Jammu & Kashmir. It 

connects Jammu & Srinagar. 

16.  ANSWER - A [Anaimudi] 

Anaimudi is the highest peak (2695 meter) of 

south India. It is situated in Kerala. 

17.  ANSWER - C [1, 3, 2, 4] 

The correct order of the mountain ranges from 

north to south- Aravalli Range, Vindhyan Range, 

Satpura Range, Ajanta range. 

18.  ANSWER - D [1, 2, 3 & 4] 

Some of the states and their highest peaks- West 

Bengal- Sandakphu (3,636 meters), Tamil Nadu- 

Doddabetta (2,636 meters), Kerala- Anamudi 

(2,695 meters), Maharashtra- Kalsubai (1,646 

meters). 

19.  ANSWER - A [Netarhat] 

Netarhat hill stations are referred to as the “Queen 

of Chotanagpur”. It is located in the Indian state 

of Jharkhand. 

20.  ANSWER - A [Amboli] 

Amboli is one of the world’s “Eco Hot-Spots” in 

India. It is situated in the state of Maharashtra at 

an altitude of 690 meters. 

21.  ANSWER - D [Tawi] 

Tawi river is the tributary of Chenab. 

22.  ANSWER - A [700 km] 

The length of the Indus river in India is about 700 

kilometers. The total length of the Indus river is 

3,180 kilometers. 

23.  ANSWER - D [26.3%] 

About 26.3% area of the total area of India is 

occupied by the river Ganga. The total length of 

the river Ganga is about 2500 kilometers. 

24.  ANSWER - D [1, 2, 3 & 4] 

The river formed an estuary- Mahi, Tapti, Pennar, 

Narmada. 

25.  ANSWER - D [From East to West and South 

to North] 

The rainfall distribution pattern over the Ganga 

basin decreases from the East to the West and 

South to North. 

26.  ANSWER - B [West Bengal] 

During the summer season, the climatic condition 

“Norwester” (Heavy rainfall with the severe 

storm) takes place in the state of West Bengal. 

The local name of this climatic condition is 

“Kalbaishakhi”. 

15- mÙkj & ch ¼tEew vkSj Jhuxj½ 
cfugky njkZ tEew vkSj d'ehj esa fLFkr gSA ;g 

tEew vkSj Jhuxj dks tksM+rk gSA 

16- mÙkj & , ¼vuSeqMh½ 
vUukÃeqMh nf{k.k Hkkjr dh lcls Å¡ph pksVh 

¼2695 ehVj½ gSA ;g dsjy esa fLFkr gSA 

17- mÙkj & lh ¼1] 3] 2] 4½ 
mÙkj ls nf{k.k rd ioZr J`a[kykvksa dk lgh Øe& 

vjkoyh jsat] Çoè; jsat] lriqM+k jsat] vtark jsatA 

18- mÙkj & Mh ¼1] 2] 3 vkSj 4½ 
dqN jkT; vkSj mudh lcls Åaph pksfV;k¡& 

if'pe caxky& landQw ¼3]636 ehVj½] rfeyukMq& 

Mksìkcsêk ¼2]636 ehVj½] dsjy& vukeqMh ¼2]695 

ehVj½] egkjk"Vª& dylqckÃ ¼1]646 ehVj½A 

19- mÙkj & , ¼usrjgkV½ 
usrjgkV fgy LVs'kuksa dks ÞNksVkukxiqj dh jkuhÞ 

ds :i esa tkuk tkrk gSA ;g Hkkjr ds >kj[kaM 

jkT; esa fLFkr gSA 

20- mÙkj & , ¼vEcksyh½ 

,d gSA ;g egkjk"Vª jkT; esa 690 ehVj dh ÅapkÃ 

ij fLFkr gSA 

21- mÙkj & Mh ¼roh½ 
roh unh fpukc dh lgk;d unh gSA 

22- mÙkj & , ¼700 fdeh½ 
Hkkjr esa Çlèkq unh dh yackÃ yxHkx 700 

fdyksehVj gSA Çlèkq unh dh dqy yackÃ 3]180 

fdyksehVj gSA 

23- mÙkj & Mh ¼26-3%½ 
Hkkjr ds dqy {ks=Qy ds yxHkx 26-3þ {ks= ij 
xaxk unh dk dCtk gSA xaxk unh dh dqy yackÃ 

yxHkx 2500 fdyksehVj gSA 

24- mÙkj & Mh ¼1] 2] 3 vkSj 4½ 
unh us ,d eqgkuk cuk;k& ekgh] rkIrh] isUukj] 

ueZnkA 

25- mÙkj & Mh ¼iwoZ ls if'pe vkSj nf{k.k ls 
mÙkj½ 
xaxk csflu ij o"kkZ forj.k iSVuZ iwoZ ls if'pe 

vkSj nf{k.k ls mÙkj dh vksj ?kVrk tkrk gSA 

26- mÙkj & ch ¼if'pe caxky½ 
xeÊ ds ekSle ds nkSjku] if'pe caxky jkT; esa 

lkFk Hkkjh o"kkZ½ gksrh gSA bl tyok;q fLFkfr dk 

LFkkuh; uke ÞdkycS'kk[khÞ gSA 

 



 

27.  ANSWER - C [Low pressure belt near the 

equator] 

Inter-Tropical Convergence Zone (ITCZ) is the 

low-pressure belt formed due to the convergence 

of north-east and south-east trade winds near the 

equator. 

28.  ANSWER - C [India and Soviet Union] 

Monex (Monsoon expedition) was organized in 

the year 1973 with the joint venture between India 

and the Soviet Union. It was organized to 

investigate in Indian monsoons. 

29.  ANSWER - C [Black soil] 

Black soil needs little irrigation as it retains soil 

moisture. 

30.  ANSWER - B [Ling nut] 

The karewas are mainly suitable for the 

cultivation of saffron, almond, walnut, apple and 

orchards. 

31.  ANSWER - C [Indus] 

Previously Yamuna river had a course towards the 

southwest direction. It was a tributary of the Indus 

river. 

32.  ANSWER - C [Vietnam] 

Myanmar is bound by china to the north and 

north-east, laos to the east, Thailand to the east 

and southeast, India to the northwest, Bangladesh 

to the west and the Andaman Sea to the south. 

33.  ANSWER - D [1, 2, 3 & 4] 

Tropical cyclone occurs between 8°N to 25°N in 

the northern hemisphere. Clone develops only on 

the ocean. The latent heat of condension is the 

main energy source of the cyclone. It occurs 

mainly after summer solstice when equatorial low 

pressure is far away from the equator. 

34.  ANSWER - B [Laterite soil] 

Leaching (Loss of water-soluble plant nutrients 

from the soil, due to rain and irrigation) is 

maximum in Laterite soil. 

35.  ANSWER - C [Rajasthan] 

Rajasthan is the largest producer of Gypsum 

(Calcium sulphate) in India. About 99% of the 

total Gypsum production of India is produced by 

the state of Rajasthan. The state of Tamil Nadu, 

Uttarakhand, Gujrat also produce a little amount 

of gypsum. 

36.  ANSWER - B [Chattisgarh] 

Jhilimili Coalfield (180 sq. km.) is located in the 

state of Chattisgarh. It is a part of Central India 

Coalfields. 

 

27- mÙkj & lh ¼Hkweè; js[kk ds fudV fuEu 
nkc isVh½ 

¼ITCZ½ Hkweè; js[kk 

ds ikl mÙkj&iwoZ vkSj nf{k.k&iwoZ O;kikfjd 

gokvksa ds vfHklj.k ds dkj.k cuus okyh fuEu 

ncko dh isVh gSA 

28- mÙkj & lh ¼Hkkjr vkSj lksfo;r la?k½ 
eksusDl ¼ekulwu vfHk;ku½ dk vk;kstu o"kZ 1973 

esa Hkkjr vkSj lksfo;r la?k ds chp la;qä m|e ds 

lkFk fd;k x;k FkkA bldk vk;kstu Hkkjrh; 

ekulwu esa tkap ds fy, fd;k x;k FkkA 

29- mÙkj & lh ¼dkyh feêh½ 
dkyh feêh dks de ÇlpkÃ dh vko';drk gksrh gS 

D;ksafd ;g feêh dh ueh dks cjdjkj j[krh gSA 

30- mÙkj & ch ¼Çyx uV½ 
djsok eq[; :i ls dslj] cknke] v[kjksV] lsc 

vkSj ckxksa dh [ksrh ds fy, mi;qä gSaA 

31- mÙkj & lh ¼Çlèkq½ 
igys ;equk unh dk çokg nf{k.k&if'pe fn'kk dh 

vksj FkkA ;g Çlèkq unh dh lgk;d unh FkhA 

32- mÙkj & lh ¼fo;ruke½ 
E;kaekj mÙkj vkSj mÙkj&iwoZ esa phu] iwoZ esa 

ykvksl] iwoZ vkSj nf{k.k iwoZ esa FkkbZySaM] mÙkj 

if'pe esa Hkkjr] if'pe esa ckaXykns'k vkSj nf{k.k esa 

vaMeku lkxj ls f?kjk gSA 

33- mÙkj&Mh ¼1] 2] 3 vkSj 4½m".kdfVcaèkh; 

pØokr mÙkjh xksykèkZ esa 8°N ls 25°N ds chp 

gksrk gSA leqæ ij gh Dyksu fodflr gksrk gSA 

la?kuu dh xqIr Å"ek pØokr dk eq[; ÅtkZ 

lzksr gSA ;g eq[; :i ls xzh"e laØkafr ds ckn 

gksrk gS tc Hkweè;js[kh; fuEu ncko Hkweè; js[kk ls 

cgqr nwj gksrk gSA 

34- mÙkj & ch ¼ysVjkbV feêh½ 
yhÇpx ¼o"kkZ vkSj ÇlpkÃ ds dkj.k feêh ls ikuh 

esa ?kqyu'khy ikSèkksa ds iks"kd rRoksa dh gkfu½ 

ySVsjkbV feêh esa lcls vfèkd gksrh gSA 

35- mÙkj & lh ¼jktLFkku½ 
jktLFkku Hkkjr esa ftIle ¼dSfY'k;e lYQsV½ dk 

lcls cM+k mRiknd gSA Hkkjr ds dqy ftIle 

mRiknu dk yxHkx 99% jktLFkku jkT; }kjk 

mRikfnr fd;k tkrk gSA rfeyukMq] mÙkjk[kaM] 

xqtjkr jkT; Hkh FkksM+h ek=k esa ftIle dk 

mRiknu djrs gSaA 

36- mÙkj & ch ¼NÙkhlx<+½ 
f>fyfeyh dksyQhYM ¼180 oxZ fdeh-½ NÙkhlx<+ 

jkT; esa fLFkr gSA ;g lsaVªy bafM;k dksyQhYM~l 

dk ,d fgLlk gSA 



 

37.  ANSWER - B [1, 2 & 3] 

The advantages of thermal electricity generation- 

Generation capability even in worst weather 

conditions. Generation is possible where 

hydropower generation is impossible. The short 

gestation period of the thermal power station. It is 

not eco friendly at all and also needs non-

renewable resources like coal, natural gas, or 

diesel. 

38.  ANSWER - A [Bhadla Solar Park] 

Bhadla Solar Park is the largest solar park in the 

world. It has a total capacity of 2,245 MW. It is 

situated in the state of Rajasthan. 

39.  ANSWER - A [Madhya Pradesh] 

More than 70% of the total soybean production is 

produced by Madhya Pradesh. 

40.  ANSWER - C [Milk production] 

Operation Flood in India is a project of the 

National Dairy Development Board (NDDB). It 

was the world’s biggest dairy development 

program. 

41.  ANSWER - C [Wells & Tubewells] 

Wells & Tubewells is the easiest source of 

irrigation. But it is expensive and also responsible 

for depleting underground water. Wells & 

Tubewells account for 63% of the total irrigated 

are of India. 

42.  ANSWER - C [Tamil Nadu] 

The state Tamil Nadu has three major port viz, 

Chennai Port, Tuticorin Port and Ennore Port. 

43.  ANSWER - C [Kolkata Port] 

Kolkata Port is recently named as Dr. Syama 

Prasad Mukherjee Port Trust. The only riverine 

major port of India was built by the British. 

44.  ANSWER - A [NW-1] 

Jal Marg Vikas Project aims at the capacity 

augmentation of navigation on National 

Waterways-1. It is expected to be completed by 

the year 2023. 

45.  ANSWER - B [Mumbai and Delhi] 

As per Census 2011, Mumbai and Delhi recorded 

the highest population. 

46.  ANSWER - A [Uttar Pradesh] 

As per Census 2011, the concentration of the 

Scheduled Caste population is the highest in Uttar 

Pradesh (31.9%). 

47.  ANSWER - C [Mumbai-Delhi-Kolkata-

Chennai] 

The correct arrangement of the following cities in 

descending order as per their population size- 

Mumbai-Delhi-Kolkata-Chennai. 

 

37- mÙkj & ch ¼1] 2 vkSj 3½ FkeZy fctyh 

mRiknu ds ykHk& [kjkc ekSle dh fLFkfr esa Hkh 

mRiknu {kerkA tgka ty fo|qr mRiknu vlaHko 

gS ogka mRiknu laHko gSA FkeZy ikoj LVs'ku dh 

NksVh xHkZèkkj.k vofèkA ;g fcYdqy Hkh i;kZoj.k ds 

vuqdwy ugÈ gS vkSj blds fy, dks;yk] çk frd 

xSl ;k Mhty tSls xSj&uohdj.kh; lalkèkuksa dh 

Hkh vko';drk gksrh gSA 

38- mÙkj & , ¼Hkknyk lksyj ikdZ½ 
Hkknyk lksyj ikdZ nqfu;k dk lcls cM+k lksyj 

ikdZ gSA bldh dqy {kerk 2]245 esxkokV gSA ;g 

jktLFkku jkT; esa fLFkr gSA 

39- mÙkj & , ¼eè; çns'k½ 
dqy lks;kchu mRiknu dk 70% ls vfèkd 

mRiknu eè; çns'k }kjk fd;k tkrk gSA 

40- mÙkj & lh ¼nwèk mRiknu½ 

¼,uMhMhch½ dh ,d ifj;kstuk gSA ;g nqfu;k dk 

lcls cM+k Ms;jh fodkl dk;ZØe FkkA 

41- mÙkj & lh ¼dqvksa vkSj uydwiksa½ 
dq,¡ vkSj uydwi ÇlpkÃ dk lcls vklku lzksr gSA 

ysfdu ;g egaxk gS vkSj Hkwfexr ty ds ?kVus ds 

fy, Hkh ftEesnkj gSA Hkkjr esa dqy Çlfpr dqvksa 

vkSj uydwiksa dk 63% fgLlk gSA 

42- mÙkj & lh ¼rfeyukMq½ rfeyukMq jkT; esa 

rhu çeq[k canjxkg gSa] psUuÃ canjxkg] rwrhdksfju 

canjxkg vkSj ,Uuksj canjxkgA 

43- mÙkj & lh ¼dksydkrk canjxkg½ 
- ';kek çlkn 

eq[ktÊ iksVZ VªLV ds :i esa ukfer fd;k x;k gSA 

Hkkjr dk ,dek= unh okyk çeq[k canjxkg vaxzstksa 

}kjk cuk;k x;k FkkA 

44- mÙkj & , ¼,uMCY;w &1½ ty ekxZ fodkl 

ifj;kstuk dk mís'; jk"Vªh; tyekxZ&1 ij 

ukSogu dh {kerk esa o`f) djuk gSA blds o"kZ 

2023 rd iwjk gksus dh mEehn gSA 

45- mÙkj & ch ¼eqacÃ vkSj fnYyh½ 
2011 dh tux.kuk ds vuqlkj] eqacÃ vkSj fnYyh 

esa lcls vfèkd tula[;k ntZ dh xÃA 

46- mÙkj & , ¼mÙkj çns'k½ 
2011 dh tux.kuk ds vuqlkj] mÙkj çns'k esa 

vuqlwfpr tkfr dh tula[;k dk ladsUæ.k 

lokZfèkd ¼31-9%½ gSA 

47- mÙkj & lh 
¼eqacÃ&fnYyh&dksydkrk&psUuÃ½ 



 

fuEufyf[kr 'kgjksa dh tula[;k ds vkdkj ds 

vuqlkj ?kVrs Øe esa lgh O;oLFkk& 

eqacÃ&fnYyh&dksydkrk&psUuÃA 



 

48.  ANSWER - D [Bhils] 

The Pithora painting, a ritualistic painting work is 

one of the famous cultures of the Bhil tribe. It is 

mainly evident in the central Gujarat region. The 

subject of the painting is usually some animals 

like Horse, Bull, or elephant which represent the 

vision of God. 

49.  ANSWER - A [21st February] 

International Mother Language Day is celebrated 

on 21st February every year. The main objective 

is to promote awareness of linguistic and cultural 

diversity and to promote multilingualism. 21st 

February is celebrated as the anniversary day of 

the fight for recognition for the Bangla language 

in Bangladesh. 

50.  ANSWER - C [Star-like pattern] 

A star-like pattern is found where a productive 

agricultural field is present with a dense road 

network. It is mainly found in the Punjab, 

Haryana, Uttar Pradesh and Upper Ganga Yamuna 

Doab region. 

51. ANSWER -D [79] 

There are 79 known moons of Jupiter, and they 

form a satellite system known as Jovian system. 

The most massive of the moons are the four 

Galilean moons: Io; Europa; Ganymede; and 

Callisto, which were independently discovered in 

1610 by Galileo Galilei and Simon Marius and 

were the first objects found to orbit a body that 

was neither Earth nor the Sun. 

52. ANSWER -B [Zimbabwe] 

Rhodesia was an unrecognised state in southern 

Africa from 1965 to 1979. It is the modern 

Zimbabwe in south africa. Rhodesia was the 

successor state to the British colony of Southern 

Rhodesia, which had been self-governing since 

achieving responsible government in 1923. 

53. ANSWER -A [Sirius] 

Sirius is the brightest star. It is also known as dog 

star or officially Alpha Canis Majoris. It is in the 

constellation Canis Major. Sirius is a binary star 

dominated by a luminous main sequence star, 

Sirius A. 

54. ANSWER -A [Aphelion] 

Earth is closest to the sun (perihelion), around 3rd 

January 

Earth is farthest from the sun (aphelion), around 

4th July 

 

 

48- mÙkj & Mh ¼Hkhy½ 
fiFkkSjk isaÇVx] ,d deZdkaMh isaÇVx dk dke Hkhy 

tutkfr dh çfl) laL fr;ksa esa ls ,d gSA ;g 

eq[; :i ls eè; xqtjkr {ks= esa Li"V gSA isaÇVx 

dk fo"k; vkerkSj ij ?kksM+s] cSy ;k gkFkh tSls dqN 

tkuoj gksrs gSa tks Hkxoku dh f"V dk çfrfufèkRo 

djrs gSaA 

49- mÙkj & , ¼21 Qjojh½ gj lky 21 Qjojh 

dks varjjk"Vªh; ekr`Hkk"kk fnol euk;k tkrk gSA 

eq[; mís'; Hkk"kkÃ vkSj lkaL frd fofoèkrk ds ckjs 

esa tkx:drk dks c<+kok nsuk vkSj cgqHkk"kkokn dks 

c<+kok nsuk gSA 21 Qjojh dks ckaXykns'k esa ckaXyk 

Hkk"kk dh ekU;rk dh yM+kÃ dh o"kZxkaB ds fnu ds 

:i esa euk;k tkrk gSA 

50- mÙkj & lh ¼rkjs tSlk iSVuZ½ ,d LVkj 

tSlk iSVuZ ik;k tkrk gS tgka ,d ?kus lM+d 

usVodZ ds lkFk ,d mRiknd f"k {ks= ekStwn 

gksrk gSA ;g eq[; :i ls iatkc] gfj;k.kk] mÙkj 

çns'k vkSj Åijh xaxk ;equk nksvkc {ks= esa ik;k 

tkrk gSA 

51- mÙkj&Mh ¼79½ c`gLifr ds 79 Kkr paæek gSa] 

vkSj os ,d mixzg ç.kkyh cukrs gSa ftls tksfo;u 

ç.kkyh ds :i esa tkuk tkrk gSA pkj xSyhfy;u 

paæekvksa esa lcls fo'kky paæek gSa% vk;ks( ;wjksik( 

xsuhesM( vkSj dSfyLVks] ftUgsa 1610 esa xSyhfy;ks 

xSyhyh vkSj lkbeu ekfj;l }kjk Lora= :i ls 

[kkstk x;k Fkk vkSj os igyh oLrq,a FkÈ tks ,d 

,sls ÇiM dh ifjØek djrh FkÈ tks u rks i`Foh Fkh 

vkSj u gh lw;ZA 

52- mÙkj&ch ¼ftEckCos½ jksMsf'k;k 1965 ls 1979 

rd nf{k.kh vÝhdk esa ,d xSj&ekU;rk çkIr jkT; 

FkkA ;g nf{k.k vÝhdk esa vkèkqfud ftEckCos gSA 

jksMsf'k;k nf{k.kh jksMsf'k;k ds fczfV'k mifuos'k dk 

mÙkjkfèkdkjh jkT; Fkk] tks 1923 esa ftEesnkj 

ljdkj çkIr djus ds ckn ls Lo&'kklu dj jgk 

FkkA 

53- mÙkj&, ¼lhfj;l½ lhfj;l lcls pedhyk 

vYQk dSful estksfjl ds :i esa Hkh tkuk tkrk 

gSA ;g u{k= dSful estj esa gSA lhfj;l ,d 

ckbujh LVkj gS tks ,d pednkj eq[; vuqØe 

LVkj] lhfj;l , dk çHkqRo gSA 

54- mÙkj&, ¼vigj.k½ 
i`Foh lw;Z ds lcls fudV gS ¼isjhgsfy;u½] yxHkx 

3 tuojh 

i`Foh lw;Z ls lcls nwj gS ¼,Q+sfy;u½] yxHkx 4 

tqykÃ 



 

55. ANSWER -B [29.7 km/s] 

The orbital speed of the Earth around the Sun 

averages about 30 km/s (108,000 km/h), which is 

fast enough to cover the planet’s diameter (about 

12,700 km) in seven minutes, and the distance to 

the Moon of 384,000 km in four hours 

56. ANSWER -B [International Date Line] 

The 180th meridian or anti meridian is the Prime 

Meridian. It is known as the International date 

line. It is with which it forms a great circle 

dividing the earth into the Western and Eastern 

Hemispheres. It is common to both east longitude 

and west longitude. 

57. ANSWER -D [Oxygen] 

Oxygen is the third most abundant element in the 

universe by mass after hydrogen and helium and 

the most abundant element by mass in the Earth’s 

crust. In Earth’s crust, Oxygen is 46.6% by mass, 

followed by Silicon 27.7% and Aluminium 8.1%. 

58. ANSWER -D [France] 

Chamonix which is known for the first winter 

Olympics is in france. On January 25, 1924, the 

first Winter Olympics take off in style at 

Chamonix in the French Alps. 

59. ANSWER -D [China] 

Forbidden city is located in middle of Beijing, 

China 

60. ANSWER -B [Tropopause] 

Tropopause separates troposphere and 

stratosphere. It is the transition layer is located 

from 10km to 18km depending on location 

61. ANSWER -D [Nebula ] 

A star begins its life in a cloud of gas and dust. 

This cloud is called nebula. 

62. ANSWER -C [Hipparchus] 

Hipparchus developed the concept of classifying 

the stars according to their brightness. According 

to him, 1st magnitude stars are the brightest while 

the 6th magnitude stars are the weakest. 

63. ANSWER -D [Jupiter, Saturn, Uranus, 

Neptune] 

Gaseous planets also called as outer planets or 

Jovian planets include Jupiter, Saturn, Uranus and 

Neptune. They are made up of hot gases mainly 

hydrogen and helium. 

64. ANSWER -C [6000 degrees C] 

Within the Sun, hydrogen is converted into 

Helium due to Nuclear Fusion releasing a 

tremendous amount of heat and light. It has 

surface temperature of 6000 degrees C. 

 

55- mÙkj&ch ¼29-7 fdeh@lsd½ lw;Z ds pkjksa 

vksj i`Foh dh d{kh; xfr vkSlru yxHkx 30 

fdeh@lsdaM ¼108]000 fdeh@?kaVk½ gS] tks xzg ds 

O;kl ¼yxHkx 12]700 fdeh½ dks doj djus ds 

fy, i;kZIr rst+ gSA 

56- mÙkj&ch ¼varjkZ"Vªh; frfFk js[kk½ 180oka 

esfjfM;u ;k ,aVh esfjfM;u çkbe esfjfM;u gSA 

bls varjkZ"Vªh; frfFk js[kk ds :i esa tkuk tkrk 

gSA ;g og gS ftlds lkFk ;g i`Foh dks if'peh 

vkSj iwoÊ xksykèkZ esa foHkkftr djus okyk ,d cM+k 

pØ cukrk gSA ;g iwoÊ ns'kkarj vkSj if'pe 

ns'kkarj nksuksa ds fy, leku gSA 

57-  gkbMªkstu vkSj 

ghfy;e ds ckn æO;eku ds fglkc 

czãkaM esa rhljk lcls çpqj rRo gS vkSj i`Foh dh 

iiM+h esa æO;eku ds fglkc ls lcls çpqj rRo gSA 

ls 46-6% gS] blds ckn flfyd u 27-7% vkSj 

,Y;wehfu;e 8-1% gSA 

58- mÙkj&Mh ¼Ýkal½ 
'khrdkyhu vksyafid ds fy, tkuk tkrk gS] Ýkal 

esa gSA 25 tuojh] 1924 dks Ýsap vkYIl ds 

'kq: gqvkA 

59- mÙkj&Mh ¼phu½ 
fuf"k) 'kgj chÇtx] phu ds eè; esa fLFkr gS 

60-  
rki eaMy dks vyx 

djrk gSA ;g LFkku ds vkèkkj ij laØe.k ijr 10 

fdeh ls 18 fdeh rd fLFkr gS 

61- mÙkj&Mh ¼uscqyk½ ,d rkjk xSl vkSj èkwy ds 

ckny esa viuk thou 'kq: djrk gSA bl ckny 

dks fugkfjdk dgrs gSaA 

62- mÙkj&lh ¼fgIipZl½ fgIikdZl us rkjksa dks 

mudh ped ds vuqlkj oxÊ r djus dh 

voèkkj.kk fodflr dhA muds vuqlkj] igys 

ifjek.k ds rkjs lcls pedhys gksrs gSa tcfd NBs 

ifjek.k ds rkjs lcls detksj gksrs gSaA 

63- mÙkj&Mh ¼c`gLifr] 'kfu] ;wjsul] 
usiP;wu½ xSlh; xzgksa dks ckgjh xzg Hkh dgk tkrk 

gS ;k tksfo;u xzgksa esa c`gLifr] 'kfu] ;wjsul vkSj 

usiP;wu 'kkfey gSaA os eq[; :i ls gkbMªkstu vkSj 

ghfy;e xeZ xSlksa ls cus gksrs gSaA 

64- mÙkj&lh ¼6000 fMxzh lsfYl;l½ 
lw;Z ds Hkhrj] ijek.kq lay;u ds dkj.k Hkkjh ek=k esa 

xeÊ vkSj çdk'k tkjh djus ds dkj.k gkbMªkstu 

ghfy;e esa ifjoÆrr gks tkrk gSA bldh lrg dk 

rkieku 6000 fMxzh lsfYl;l gSA 



 

65. ANSWER -B [Hadean] 

The oldest known mineral Zircon was found in the 

Paleohadean era of the Hadean Eon. 

66. ANSWER -D [Both 1 and 2] 

Seismic wave velocity depends on the density and 

the elasticity of the rock. Seismic waves travel 

faster in denser elastic rocks. 

67. ANSWER -C [Intrusive rocks have small 

crystals] 

Intrusive igneous rocks are rocks formed when 

magma cools inside the earth’s crust. They cool 

quite slowly and hence they have large crystals. 

68. ANSWER -A [They have high Porosity] 

Igneous rocks are characterized by low porosity. 

They do not have layers and are compact and 

massive. They do not contain fossils. 

69. ANSWER -C [Arthur Holmes] 

Arthur Holmes, an English geologist explained in 

1930s the Convectional Current Theory. 

According to him the convectional  

currents play an important role in the movement 

of plates. 

70. ANSWER -D [Isthmus of Pere kop] 

The Isthmus of perekop connects to crimean 

peninsula to the mainland of Ukraine. It seperates 

the water bodies of the black sea and the sivash. 

Its width is nearly 5 to 7 km 

71. ANSWER -D [Fluvial erosion] 

Gullies are landforms created by the erosion of 

running water(fluvial erosion).  Hillsides are more 

prone to gully erosion. 

72. ANSWER -B [Mushroom rock] 

Mushroom rocks also called as rock pedestals or 

pedestal rocks are naturally occuring rocks 

resembling the shape of a mushroom. They are 

formed by various processes of weathering and 

erosion. 

73. ANSWER -B [Spring] 

Spring is a component of hydrosphere and a point 

at which the water flows from an aquifer to the 

earth’s surface. 

74. ANSWER -A [Asia] 

The Yarlung Tsangpo river flows in Asian 

continent. It is the longest river of Tibet 

Autonomous Region in china. In India, it is 

known as the Brahmaputra river. 

 

65- mÙkj&ch ¼gSfM;u½ 
lcls iqjkuk Kkr [kfut ftjdksu gSfM;u Ãu ds 

isfy;ksgsfM;u ;qx esa ik;k x;k FkkA 

66- mÙkj&Mh ¼1 vkSj 2 nksuksa½ 
Hkwdaih; rjax osx pêku ds ?kuRo vkSj yksp ij 

fuHkZj djrk gSA ?kuh ykspnkj pêkuksa esa Hkwdaih; 

rjaxsa rsth ls ;k=k djrh gSaA 

67- mÙkj&lh ¼?kqliSB djus okyh pêkuksa esa 
NksVs fØLVy gksrs gSa½ 
?kqliSB dh vkXus; pêkusa os pêkusa gSa tks i`Foh dh 

iiM+h ds vanj eSXek ds BaMk gksus ij curh gSaA os 

dkQh èkhjs&èkhjs BaMk gksrs gSa vkSj blfy, muds 

ikl cM+s fØLVy gksrs gSaA 

68- mÙkj&, ¼muds ikl mPp fNæ gS½ 
vkXus; pêkuksa dh fo'ks"krk de ljaèkzrk gSA muds 

ij gSaA buesa thok'e ugÈ gksrs gSaA 

69- mÙkj&lh ¼vkFkZj gksEl½ 
,d vaxzsth HkwfoKkuh vkFkZj gksEl us 1930 ds 

n'kd esa daosD'kuy djaV F;ksjh dh O;k[;k dhA 

muds vuqlkj laoguh; 

IysVksa dh xfr esa èkkjk,¡ egRoiw.kZ Hkwfedk fuHkkrh 

gSaA 

70- mÙkj&Mh ¼ isjs dksi dk LFkyMe:e/;½ 
isjsdksi dk bLreql Øhfe;k çk;}hi dks ;wØsu dh 

eq[; Hkwfe ls tksM+rk gSA ;g dkyk lkxj vkSj 

flok'k ds ty fudk;ksa dks vyx djrk gSA bldh 

pkSM+kbZ djhc 5 ls 7 fdeh gS 

71- mÙkj&Mh ¼¶ywfo;y vijnu½ 
xfy;ka cgrs ikuh ¼¶ywfo;y vijnu½ ds dVko 

}kjk fuÆer Hkw&vk fr;ka gSaA igkM+h bykdksa esa 

ukys ds dVko dk [krjk vfèkd gksrk gSA 

72-  

e'k:e dh pêkuksa 

pêkusa Hkh dgk tkrk gS] tks çk frd :i ls ,d 

e'k:e ds vkdkj dh pêkusa gksrh gSaA os vi{k; 

vkSj vijnu dh fofHkUu çfØ;kvksa }kjk curs gSaA 

73- mÙkj&ch ¼olar½ olar tyeaMy dk ,d 

?kVd gS vkSj ,d Çcnq gS ftl ij ikuh ,d 

tyHk`r ls i`Foh dh lrg rd cgrk gSA 

74- mÙkj&, ¼,f'k;k½ ;kjyqax lkaxiks unh 

,f'k;kbZ egk}hi esa cgrh gSA ;g phu esa frCcr 

Lok;Ùk {ks= dh lcls yach unh gSA Hkkjr esa bls 

czãiq= unh ds uke ls tkuk tkrk gSA 

 



 

75. ANSWER -C [Berm] 

The landform alongside a body of water 

consisting of loose particles is called a beach. 

Berm is a near horizontal portion of the beach that 

stays dry except during extremely high tides or 

storms. It may have sand dunes. It is the deposit of 

material comprising the active shoreline. 

76. ANSWER -B [Endorheic basin] 

Endorheic basins are basins which have a limited 

drainage and which normally retains water. It does 

not allow the outflow to other external bodies like 

rivers or oceans. They are closed hydrological 

systems. 

77. ANSWER -A [Plate Tectonics] 

The underwater mountain system formed by plate 

tectonic spreading is called the Mid oceanic ridge. 

They are formed by plate tectonics due to the 

process of sea floor spreading. They are formed at 

divergent plate boundaries. They are the longest 

mountain ranges of the world. 

78.ANSWER -C [It is a large dome-shaped, 

steep-sided, bald rock] 

Bornhardt is a large dome-shaped, steep-sided, 

bald rock. It is also called as a Sugar-loaf. They 

show extensive sheet jointing. 

79. ANSWER -D [1, 2 & 3] 

Honeycomb A form of cavernous weathering and 

subcategory of tafoni is called as Honeycomb 

weathering. It is also been called alveoli, 

lacework, stonelace, fretting or miniature tafoni 

weathering. 

Karst is the type of landform associated with 

dissolution of soluble rocks. 

Bornhardt is a large dome-shaped, steep-sided, 

bald rock. It is also called as a Sugar-loaf. They 

show extensive sheet jointing. 

80. ANSWER -B [Lake Victoria] 

The Great Lakes are a series of inter connected 

fresh water lakes in North America. The Great 

Lakes include: 

Lake Superior 

Lake Michigan 

Lake Huron 

Lake Erie  

Lake Ontario 

 

 

75- mÙkj&lh ¼ceZ½ 
<hys d.kksa ls ;qä ikuh ds 'kjhj ds lkFk fLFkr 

LFkyk fr dks leqæ rV dgk tkrk gSA cje leqæ 

rV dk ,d fudV {kSfrt Hkkx gS tks vR;fèkd 

mPp Tokj ;k rwQku dks NksM+dj lw[kk jgrk gSA 

blesa jsr ds Vhys gks ldrs gSaA ;g lfØ; rVjs[kk 

okyh lkexzh dk fu{ksi gSA 

76- mÙkj&ch ¼,aMksjgkbd csflu½ 
,aMksjfgd csflu os csflu gSa ftuesa ,d lhfer 

ty fudklh gksrh gS vkSj tks lkekU; :i ls ikuh 

dks cjdjkj j[krh gSA ;g ufn;ksa ;k egklkxjksa 

tSls vU; ckgjh fudk;ksa dks cfgokZg dh vuqefr 

 

77- mÙkj&, ¼IysV foorZfudh½ 
IysV VsDVksfud QSyko }kjk xfBr ikuh ds uhps 

dh ioZr ç.kkyh dks eè; egklkxjh; fjt dgk 

tkrk gSA os leqæ ry ds QSyus dh çfØ;k ds 

dkj.k IysV foorZfudh }kjk curs gSaA os vilkjh 

IysV lhekvksa ij curs gSaA os nqfu;k dh lcls yach 

ioZr J`a[kyk,a gSaA 

78- mÙkj&lh ¼;g ,d cM+s xqacn ds vkdkj 
dk] [kM+h&fdukjs okyh] xatk pêku gS½ 
cksuZgkM~VZ ,d cM+s xqacn ds vkdkj dk] 

[kM+h&fdukjs okyh] xatk pêku gSA bls phuh dh 

gSaA 

79- mÙkj&Mh ¼1] 2 vkSj 3½ 
NÙks dk ,d çdkj dk vi{k; vkSj rQ+ksuh dh 

miJs.kh dks eèkqdks'k vi{k; dgk tkrk gSA bls 

,fYo;ksyh] yslodZ] LVksuysl] ÝsÇVx ;k y?kq 

rQ+ksuh vi{k; Hkh dgk tkrk gSA 

dkLVZ ?kqyu'khy pêkuksa ds fo?kVu ls tqM+h 

Hkw&vk fr;ksa dk çdkj gSA 

cksuZgkM~VZ ,d cM+s xqacn ds vkdkj dk] 

[kM+h&fdukjs okyh] xatk pêku gSA bls phuh dh 

gSaA 

80- mÙkj&ch ¼foDVksfj;k >hy½ 
xzsV ysDl mÙkjh vesfjdk esa vkil esa tqM+h rkts 

ikuh dh >hyksa dh ,d J`a[kyk gSA egku >hyksa esa 

'kkfey gSa% 

ysd lwihfj;j 

fe'khxu >hy 

gwjks >hy 

,jh ljksoj 

>hy vksaVkfj;ks 

 

 



 

81. ANSWER-D [High-level cyclonic circulation] 

Cyclone is any low-pressure area with winds 

spiralling  inwards. 

Conditions Favourable for Tropical Cyclone 

Formation include: 

Large sea surface with temperature higher than 

27° C, 

Presence of the Coriolis force enough to create a 

cyclonic vortex, 

Small variations in the vertical wind speed, 

A pre-existing weak low-pressure area or low-

level-cyclonic circulation, 

Upper divergence above the sea level system. 

82. ANSWER -B [Arctic Ocean ] 

The Arctic Ocean is the smallest and shallowest of 

the world’s five major oceans. It is also known as 

the coldest of all the oceans. 

It is sometimes classified as an estuary of the 

Atlantic Ocean. 

83. ANSWER -D [Arctic] 

The Siberian Shelf in the Arctic Ocean – stretches 

to 1,500 kilometers (930 mi) in width. Continental 

shelves are usually covered with a layer of sand, 

silts, and silty muds. 

84. ANSWER -C [Only 2] 

Fringing Reef: The coral reefs that are found very 

close to the land and forms a shallow lagoon 

known as Boat Channel are called Fringing Coral 

Reefs. 

The Fringing Reefs develop along the islands and 

the continental margins. They grow from the deep 

bottom of the sea and have their seaward side 

sloping steeply into the deep sea. Fringing Reefs 

are the most commonly found coral reefs among 

the three. 

85. ANSWER -A [Ebb Tide ] 

Ebb Tide is the receding or also called the 

outgoing tide. It is the period between high tide 

and low tide during which water flows away from 

the shore. 

86. ANSWER -D [Semi-diurnal Tide] 

Tides are the periodical rise and fall of the sea 

levels, once or twice a day, caused by the 

combined effects of the gravitational forces 

exerted by the sun, the moon and the rotation of 

the earth. 

Semi-diurnal Tide: They are the most common 

tidal pattern, featuring two high tides and two low 

tides each day. 

 

81- mÙkj&Mh ¼mPp Lrjh; pØokrh 
ifjlapj.k½ 
pØokr dksÃ Hkh de ncko okyk {ks= gS ftlesa 

gok,a vanj dh vksj ?kwerh gSaA 

m".kdfVcaèkh; pØokr ds fuekZ.k ds fy, vuqdwy 

ifjfLFkfr;ksa esa 'kkfey gSa% 

27 fMxzh lsfYl;l ls vfèkd rkieku okyh cM+h 

leqæh lrg] 

dksfjvksfyl cy dh mifLFkfr ,d pØokrh Hkaoj 

cukus ds fy, i;kZIr gS] 

ÅèokZèkj gok dh xfr esa NksVs cnyko] 

igys ls ekStwn detksj fuEu ncko dk {ks= ;k 

fuEu Lrj dk pØokrh ifjlapj.k] 

leqæ ry ç.kkyh ds Åij Åijh fopyuA 

82- mÙkj&ch ¼vkdZfVd egklkxj½ 
vkdZfVd egklkxj nqfu;k ds ikap çeq[k 

egklkxjksa esa lcls NksVk vkSj mFkyk gSA bls lHkh 

egklkxjksa esa lcls BaMk Hkh dgk tkrk gSA 

bls dHkh&dHkh vVykafVd egklkxj ds eqgkuk ds 

:i esa oxÊ r fd;k tkrk gSA 

83- mÙkj&Mh ¼vkdZfVd½ 
vkdZfVd egklkxj esa lkbcsfj;u 'ksYQ & pkSM+kÃ 

esa 1]500 fdyksehVj ¼930 ehy½ rd QSyk gSA 

egk}hih; vyekfj;ka vkerkSj ij jsr] flYV vkSj 

flYVh feêh dh ,d ijr ls <dh gksrh gSaA 

84- mÙkj&lh ¼dsoy 2½ 
ÇÝÇtx jhQ% çoky fHkfÙk;k¡ tks Hkwfe ds cgqr 

djhc ikÃ tkrh gSa vkSj ,d mFkys ySxwu dk 

fuekZ.k djrh gSa ftls cksV pSuy ds :i esa tkuk 

tkrk gS] ÇÝÇtx dksjy jhQ dgykrs gSaA 

ÇÝÇtx jh¶l }hiksa vkSj egk}hih; ekÆtu ds lkFk 

fodflr gksrs gSaA os leqæ ds xgjs ry ls mxrs gSa 

vkSj muds leqæ dh vksj dk <yku xgjs leqæ esa 

xgjk gksrk gSA ÇÝÇtx jhQ rhuksa esa lcls vfèkd 

ikÃ tkus okyh çoky fHkfÙk;k¡ gSaA 

85- mÙkj&, ¼Ãc Tokj½ 
Ebb Tide ,d vkorÊ Tokj gS ftls tkod Tokj 

Hkh dgk tkrk gSA ;g mPp Tokj vkSj fuEu Tokj 

ds chp dh vofèk gS] ftlds nkSjku ikuh fdukjs ls 

cg tkrk gSA 

86- mÙkj&Mh ¼vèkZ&nSfud Tokj½ 
Tokj&HkkVk fnu esa ,d ;k nks ckj leqæ ds Lrj 

esa vkofèkd o`f) vkSj fxjkoV gS] tks lw;Z] paæek 

vkSj i`Foh ds ?kw.kZu }kjk yxk, x, xq#Rokd"kZ.k 

cyksa ds la;qä çHkkoksa ds dkj.k gksrk gSA 



 

vèkZ&nSfud Tokj% os lcls vke Tokjh; iSVuZ gSa] 

ftlesa çR;sd fnu nks mPp Tokj vkSj nks fuEu 

Tokj gksrs gSaA 

87. ANSWER -D [Only 3] 

Warm Ocean Currents in Pacific Ocean: 

North Equatorial Current  

South Equatorial Current  

Counter Equatorial Current  

Kuroshio System  

East Australia Current  

North Pacific Drift 

Cold Ocean Currents in pacific ocean: 

Oyashio Current  

California Current 

Peruvian or Humboldt Current 

88. ANSWER -C [Extreme Climate Throughout 

The Year] 

Primary weather conditions associated with a 

coastal region: 

Sea Breeze During The Day 

Land Breeze In The Evenings 

Moderate Climate Throughout The Year 

Coastal Fog 

Higher Rainfall Than Inland Areas 

89. ANSWER -A [Only 1] 

The clay-humus complex is essential for a fertile 

soil as it provides it with a high water and nutrient 

holding capacity. Humus acts as a cement binding 

the soil particles together and thus reducing the 

risk of erosion. 

90. ANSWER -B [Negroid] 

The Negroid are represented by the African 

people. They are also called woollen haired 

people. There are several sub-races of Negroids 

also including Aborigines, Melanesians, Negritos, 

Papuans, Dravidians etc. They also include a 

number of tribes such as Nilotic, Bantu, Sudanic, 

Pygmy, Khosian etc. 

91. ANSWER -B [Only 1 & 4] 

Demographic Transition is credited to Frank  

W Notestein, who gave his theory in 1945.  

According to this theory, all countries pass 

through stages of demographic transition, which is 

accompanied by industrialisation and economic 

development. Notestein gave the following stages 

of demographic transition. 

First stage – Stage of high birth rate and high 

death rate 

Second stage (early expanding) – Stage of high 

birth rate and low death rate. 

Third stage – Stage of declining birth rate and low 

death rate. 

Fourth stage (low fluctuating ) – Stage of low 

birth rate and death rate 

 

87- mÙkj&Mh ¼dsoy 3½ 
ç'kkar egklkxj esa xeZ egklkxjh; èkkjk,¡% 

mÙkj Hkweè;js[kh; èkkjk 

nf{k.k Hkweè;js[kh; èkkjk 

dkmaVj bDosVksfj;y djaV 

dqjksf'k;ks flLVe 

 

mÙkjh ç'kkar cgko 

ç'kkar egklkxj esa BaMh egklkxjh; èkkjk,¡% 

vks;kf'k;ks djaV 

dSfyQksÆu;k djaV 

is:fo;u ;k gEcksYV djaV 

88- mÙkj&lh ¼o"kZ Hkj pje tyok;q½ 
rVh; {ks= ls tqM+h çkFkfed ekSle fLFkfr;ka% 

fnu ds nkSjku leqæh gok 

ySaM czht bu n boÇux 

lky Hkj eè;e tyok;q 

rVh; dksgjk 

varnsZ'kh; {ks=ksa dh rqyuk esa vfèkd o"kkZ 

89- mÙkj&, ¼dsoy 1½ ,d mitkÅ feêh ds fy, 

,d mPp ikuh çnku djrk gS vkSj iks"kd rRoksa dks 

èkkj.k djus dh {kerkA áwel feêh ds d.kksa dks 

,d lkFk ckaèkus okys lhesaV ds :i esa dk;Z djrk 

gS vkSj bl çdkj {kj.k ds tksf[ke dks de djrk 

gSA 

90- mÙkj&ch ¼uhxzksbM½ uhxzksbM dk çfrfufèkRo 

vÝhdh yksx djrs gSaA mUgsa Åuh ckyksa okys Hkh dgk 

tkrk gSA vkfnoklh] esykusf'k;u] usfxzVksl] ikiqvku] 

æfoM+ vkfn lfgr uhxzksbM~l dh dÃ mi&çtkfr;ka 

Hkh gSaA buesa dÃ tutkfr;ka Hkh 'kkfey gSa tSls fd 

fuyksfVd] caVw] lwMkfud] fiXeh] [kksfl;u vkfnA 

91- mÙkj&ch ¼dsoy 1 vkSj 4½ tulkaf[;dh; 

laØe.k dk Js; ÝSad - dks fn;k tkrk gS MCY;w 

uksVLVhu] ftUgksaus 1945 esa viuk fl)kar fn;k FkkA 

bl fl)kar ds vuqlkj] lHkh ns'k tulkaf[;dh; 

laØe.k ds pj.kksa ls xqtjrs gSa] ftlds lkFk 

vkS|ksxhdj.k vkSj vkÆFkd fodkl gksrk gSAuksVLVhu 

us tulkaf[;dh; laØe.k ds fuEufyf[kr pj.k 

fn,A 

çFke pj.k&mPp tUe nj vkSj mPp e`R;q nj dh 

voLFkk 

nwljk pj.k ¼çkjafHkd foLrkj½ & mPp tUe nj vkSj 

fuEu e`R;q nj dk pj.kA 



 

rhljk pj.k & ?kVrh tUe nj vkSj fuEu e`R;q nj 

dh voLFkkA 

pkSFkk pj.k ¼fuEu mrkj&p<+ko½  fuEu tUe nj 

vkSj e`R;q nj dh voLFkk 



 

92. ANSWER -A [Pleasant Climate] 

People migrate for a better economic and social 

life. There are two sets of factors that influence 

migration. 

The Push factors make the place of origin seem 

less attractive for reasons like unemployment, 

poor living conditions, political turmoil, 

unpleasant climate, natural disasters, epidemics 

and socio-economic backwardness. 

The Pull factors make the place of destination 

seem more attractive than the place of origin for 

reasons like better job opportunities and living 

conditions, peace and stability, security of life and 

property and pleasant climate. 

93. ANSWER -D [Only 1, 2, 3 & 4] 

The Indian Ocean is the third-largest of the 

world's oceanic divisions. It covers 19.8% of the 

water on Earth's surface. It is bounded by Asia to 

the north, Afrcia to the west and Australia to the 

east. To the south it is bounded by the Southern 

Ocean or Antartica 

94. ANSWER -C [Lumbering] 

Production of timber is the most important 

forestry activity in terms of economic value. Often 

called lumbering, this activity is as widespread as 

gathering and extracting industries in forests. 

Lumbering takes on various forms in different 

areas depending upon the character of the forests, 

relief of land and other environmental factors. 

95. ANSWER -B [Only 2 & 3] 

Mediterranean Agriculture – This type of 

agriculture is characterised with mild rainy winter 

and mountain topography. 

–  all-year or winter crops are grown with rain 

– all-year or summer crops are grown with 

irrigation 

– particular attention is given to fruit crops and 

grains. 

96. ANSWER -C [Both 1 & 2] 

The nature of grass cover varies from one major 

area of livestock ranching to the other. Tropical 

grasslands generally called savannas form the 

dominant type of vegetation cover in the dry low 

latitudes. 

The grasses in the tropical grasslands are tall, 

coarse and fibrous and they are considered less 

edible. Therefore the carrying capacity of these 

regions is lower. 

92- mÙkj&, ¼lq[kn tyok;q½ yksx csgrj vkÆFkd 

vkSj lkekftd thou ds fy, iyk;u djrs gSaA 

çokl dks çHkkfor djus okys dkjdksa ds nks lewg 

gSaA 

iq'k dkjd csjkstxkjh] [kjkc thou fLFkfr;ksa] 

jktuhfrd mFky&iqFky] vfç; tyok;q] çk frd 

vkinkvksa] egkekjh vkSj lkekftd&vkÆFkd fiNM+siu 

tSls dkj.kksa ls ewy LFkku dks de vkd"kZd yxrs 

gSaA 

csgrj ukSdjh ds volj vkSj jgus dh fLFkfr] 'kkafr 

vkSj fLFkjrk] thou vkSj laifÙk dh lqj{kk vkSj 

lq[kn tyok;q tSls dkj.kksa ls iqy dkjd xarO; 

LFkku dks ewy LFkku dh rqyuk esa vfèkd vkd"kZd 

yxrs gSaA 

93- mÙkj&Mh ¼dsoy 1] 2] 3 vkSj 4½ fgan 

egklkxj nqfu;k ds egklkxjh; foHkktuksa esa rhljk 

lcls cM+k gSA ;g i`Foh dh lrg ij 19-8% ikuh 

dks doj djrk gSA ;g mÙkj esa ,f'k;k] if'pe esa 

;g nf{k.kh egklkxj ;k vaVkdZfVdk ls f?kjk gS 

vfèkdka'k mÙkjh vesfjdk] nf{k.k vesfjdk vkSj 

ugÈ gSA 

94- mÙkj&lh ¼yEcÇjx½ 
ydM+h dk mRiknu vkÆFkd ewY; dh f"V ls lcls 

egRoiw.kZ okfudh xfrfofèk gSA vDlj ydM+h dkVuk 

dgk tkrk gS] ;g xfrfofèk taxyksa esa m|ksxksa dks 

bdëk djus vkSj fudkyus ds :i esa O;kid gSA 

taxyksa dh ç fr] Hkwfe dh jkgr vkSj vU; 

i;kZoj.kh; dkjdksa ds vkèkkj ij fofHkUu {ks=ksa esa 

ydM+h dkVus ds fofHkUu :i gksrs gSaA 

95- mÙkj&ch ¼dsoy 2 vkSj 3½ Hkweè;lkxjh; 

f"k&bl çdkj dh f"k esa gYdh o"kkZ okyh lnÊ vkSj 

ioZrh; LFkyk fr dh fo'ks"krk gksrh gSA 

&iwjs lky ;k lÆn;ksa dh Qlysa ckfj'k ds lkFk 

mxkÃ tkrh gSa 

& iwjs lky ;k xeÊ dh Qlysa ÇlpkÃ ds lkFk 

mxkÃ tkrh gSa 

&Qy Qlyksa vkSj vukt ij fo'ks"k è;ku fn;k 

tkrk gSA 

96- mÙkj&lh ¼1 vkSj 2 nksuksa½ ?kkl ds vkoj.k 

dh ç fr i'kqikyu ds ,d çeq[k {ks= ls nwljs {ks= 

esa fHkUu gksrh gSA m".kdfVcaèkh; ?kkl ds eSnku ftUgsa 

vkerkSj ij lokuk dgk tkrk gS] 'kq"d fuEu v{kka'kksa 

esa çeq[k çdkj ds ouLifr vkoj.k dk fuekZ.k djrs 

gSaA 

m".kdfVcaèkh; ?kkl ds eSnkuksa esa ?kkl yach] eksVs 

vkSj js'ksnkj gksrh gS vkSj mUgsa de [kkus ;ksX; ekuk 

tkrk gSA blfy, bu {ks=ksa dh ogu {kerk de gSA 



 

97. ANSWER -C [Both 1 & 2] 

In order to take advantage of seasonal grazing 

facilities in mid-latitudes and some of the high 

mountain zones in tropics, the animal grazers shift 

their cattle between highlands and lowlands 

seasonally. This practice is called transhumance. 

This practice is common in areas where the 

climate has one severe season, say a cold winter. 

Transhumance occurs in mountainous areas of 

Europe and Himalayas. 

98. ANSWER -C [Sericulture] 

Sericulture refers to the rearing of silk worms and 

obtaining silk from them. It involves raising a feed 

crop, chiefly mulberry leaves, and tending to silk 

worms and obtaining silk fibre from the cocoons 

produced by the worms. 

99. ANSWER -D [Italy] 

Sericulture refers to the rearing of silk worms  

and obtaining silk from them. Presently, 

sericulture is almost confined to eastern Asia and 

southern Europe. Italy is the only major exporter 

of raw silk in Europe 

100. ANSWER -D [Quarrying] 

Mining is the activity of obtaining minerals from 

the surface of the earth or from the rocks from 

below the surface. 

Some of the minerals like building stone occur 

either on the surface or at very shallow depths. 

These minerals are just dug out of the rocks. This 

activity is called Quarrying. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

97- mÙkj&lh ¼1 vkSj 2 nksuksa½ 
eè; v{kka'kksa vkSj m".k dfVcaèk esa dqN mPp 

ioZrh; {ks=ksa esa ekSleh pjkÃ lqfoèkkvksa dk ykHk 

mBkus ds fy,] i'kq pjokgs vius eosf'k;ksa dks 

ekSleh :i ls mPpHkwfe vkSj rjkÃ ds chp 

LFkkukarfjr djrs gSaA bl vH;kl dks 

VªkaláweUl dgk tkrk gSA ;g çFkk mu {ks=ksa esa 

vke gS tgka tyok;q esa ,d xaHkhj ekSle gksrk 

gS] tSls fd dM+kds dh lnÊA VªkaláweUl ;wjksi 

vkSj fgeky; ds igkM+h bykdksa esa gksrk gSA 

98- mÙkj&lh ¼lsjhdYpj½ 
js'ke mRiknu ls rkRi;Z js'ke ds dhM+ksa dks 

ikyus vkSj muls js'ke çkIr djus ls gSA blesa 

pkjk Qly mxkuk] eq[;r% 'kgrwr ds iÙks] vkSj 

js'ke ds dhM+ksa dh ns[kHkky djuk vkSj fe;ksa 

}kjk mRikfnr dksdwuksa ls js'ke ds js'ks çkIr 

djuk 'kkfey gSA 

99- mÙkj&Mh ¼bVyh½ 
js'ke mRiknu ls rkRi;Z js'ke ds dhM+ksa ds 

ikyu ls gS vkSj muls js'ke çkIr djukA 

orZeku esa js'ke mRiknu yxHkx iwoÊ ,f'k;k 

vkSj nf{k.kh ;wjksi rd gh lhfer gSA ;wjksi esa 

dPps js'ke dk ,dek= çeq[k fu;kZrd bVyh gS 

100- mÙkj&Mh ¼mR[kuu½ 
[kuu i`Foh dh lrg ls ;k lrg ds uhps dh 

pêkuksa ls [kfut çkIr djus dh xfrfofèk gSA 

dqN [kfut tSls fcÇYMx LVksu ;k rks lrg ij 

;k cgqr mFkyh xgjkÃ ij ik, tkrs gSaA ;s 

[kfut flQZ pêkuksa ls [kksns x, gSaA bl 

xfrfofèk dks mR[kuu dgk tkrk gSA 


